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Solving Sequence

1 38-410>11-7—6—>9—>12—>1—5—> 2 —> C1,C4,C9
C3 Cip €7 C Cg Ci1 Ci2 C3 C2
A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

= (—1.04267 x 10*°u'3 — 2.24065 x 10*"u'? + -+ +1.09231 x 102°b + 2.46093 x 10%,
—1.28732 x 10%%u!® — 2.92904 x 10%"u!'? 4 - -+ + 2.18462 x 10*%a — 1.14504 x 10%°,
u't 4+ 210! + - - + 544u + 256)

= (—102u® — 440u" — 440u® — 655u° + u* — 240u® + 269u? + 59b — 180u + 261,
—15u® — 30u” 4 88u® + 72u® + 283u* + 107u® + 253u? + 59a + 36u + 172,
u? + 5u® + 8u” 4 13u’ + 10u° + 11u* + 5u® + 6u® + u + 1)

= (—2ua + 10u*a — 2u® — 30ua + 13u? + 33u%a — 45u® — 14au + 78u? + 6b 4 4a — 62u + 28,
18ua + 39u® + - - - + 16a — 220, u® — Tu® + 26u* — 51u> + 52u® — 28u + 8)

= (2u*b+b* —bu+4u® +4b—2u+T7, v +a—u+2, v —u+2u—1)

={a, —v> — T +4b— 120 — 1, v* + T3 + 160 + 13v + 4)
={a, —v*b+b*+20 — v +b+20+1, v3 - 302 +20 1)

* 6 irreducible components of dim¢ = 0, with total 51 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-

drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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L I} = (—1.04 x 10?043 — 2.24 X 10*"u'? 4 ... 4 1.09 X 102°b + 2.46 X
1028, —1.29 x 10%26u!3 — 2.93 x 102"u!2 4 ... + 2.18 x 10%°a — 1.15 X
1029, u'? 4 21u'® + ... + 544u + 256)

(i) Arc colorings

=0
)
;)

0.000589262u'3 + 0.0134075u'2 + - - - — 0.805195u + 0.524136
0.000954555u3 + 0.0205129u'2 + - - - 4+ 0.318887u — 0.225296

0.000589262u'3 + 0.0134075u'2 + - - - — 0.805195u + 0.524136
0.000671621u'3 + 0.0148039u'2 + - - - — 0.393936u — 0.489753

ag =

[y

0.000115085u'? + 0.00299760u'? + - - - + 0.828767u — 0.0553136
0.00122256u'3 + 0.0260104u'? + - - - + 0.0388506u + 0.499449)

0.00121747u® + 0.0251618u'? + - - - + 2.10350u + 0.0491900 )

0.000709347u'® + 0.0153553u!? + - - - 4 0.361561u — 0.145546

0.000261393u'3 + 0.00718595u'2 + - - - — 1.58109u + 0.503456
0.00106954u1'3 + 0.0235741u'? + - -+ — 0.362940u — 0.280603

0.000424271u'3 + 0.00989082u'2 + - - - — 0.674232u + 0.474041
0.0000149496%:'3 + 0.00111721w'2 + - - - — 0.559577u — 0.359209

0.000409321u'3 — 0.00877361u'2 + - - - + 0.114654u — 0.833250
as =\ 0.0000359381u'3 + 0.00108264u'2 + - - - — 0.358027u — 0.313673

( 0.000409321u!3 + 0.00877361u'2 + - - - — 0.114654u + 0.833250 )
ag =

a1 =

(
(1
o=
-
o (o5
(
(
=
(
(4

0.0000149496u:'3 + 0.00111721u'2 + - - - — 0.559577u — 0.359209

(ii) Obstruction class = —1

(iii) Cusp Shapes = —0.00674689u'® — 0.136707u'? + - - - — 11.6248u — 11.8608



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

a1 ul + 540t 4+ - — T64Tu + 256

C2,C4 u't —16ul® + - +31u— 16

3, Cr ult 4 21ut? 4+ -+ + 544u + 256

cs, C8 Wt ouB o du+1

Cg, Co Wt =11+ 49 —9

c10, €12 't 270 4 4 15Ty — 1
11 ut 4+ 22u' 4 4 88u + 4




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1 Yt —910y" 4 - - — 40412737y + 65536

C2,C4 Yyt — 54y’ 4 ...+ 7647y 4 256

3,7 Yt —177y" 4 — 226304y + 65536

C5,Cs Yyt =2y~ 6y + 1

6, Co Yyt — 61yt 4 — 927y + 81

€10, C12 Yt — 413y 4. — 22155y + 1

11 Yt — 64y + - — 2456y + 16




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.126413 + 1.0641701

a= 0.0178207 — 0.13275701

b= 0.073229 + 0.4098801

2.38888 4 2.313491

1.040974 + 0.1857031

u = —0.126413 — 1.0641701

a= 0.0178207 4 0.13275701

b= 0.073229 — 0.4098801

2.38888 — 2.313491

1.040974 — 0.1857031

0.594510 + 0.4113751
—0.944868 4 0.7993011
—0.88821 + 1.421991

—3.64308 + 0.887501

—15.9778 4- 0.06041

0.594510 — 0.4113751
—0.944868 — 0.7993011
—0.88821 — 1.421991

—3.64308 — 0.887501

—15.9778 — 0.06041

1.40610 + 0.224671
0.307958 + 1.3098101
0.030088 + 0.2879661

0.10775 — 7.507291

—7.28452 4 4.951431

1.40610 — 0.224671
0.307958 — 1.3098101
0.030088 — 0.287966.1

0.10775 + 7.507291

—7.28452 — 4.951431

—0.0120122
—0.522964

—1.12206

—9.20330

—0.345517 + 0.3632051
1.121570 + 0.2747431
—0.330774 4 0.3917331

—0.921235 4 1.0593001

—5.51258 — 4.572451

—0.345517 — 0.3632051
= 1.121570 — 0.2747431
= —0.330774 — 0.3917331

—0.921235 — 1.0593001

—5.51258 + 4.572451

—1.80958 + 2.112911
—1.248730 — 0.1347031

U

a

b

U

a

b

U

a

b

U

a

b

u = —0.560428
a

b

U

a

b

U

a

b

U
a=
b= —2.16984 + 0.052781

19.0076 + 14.96121

—6.21836 — 5.882341




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u = —1.80958 — 2.112917
a = —1.248730 + 0.1347031
b= —2.16984 — 0.052781

19.0076 — 14.96121

—6.21836 + 5.882341

u = —3.79852 4 1.134001
a= 1.41552+ 0.055101
b= 2.07852 + 0.025441

—18.1348 — 0.13871

—2.93027 + 5.791541

uw = —3.79852 — 1.134007
a = 1.41552 —0.055101
b= 2.07852 — 0.025441

—18.1348 4 0.13871

—2.93027 — 5.791541

u = —12.2807
a= 1.54847
b= 2.18693

—17.8723




II. I¥ = (—102u® — 440u” + - -+ + 59b + 261, —15u® — 30u” + - -+ + 59a +
172, u® +5u8 +---+u+1)

(i) Arc colorings

o ()

0
ag = u
1
a4 = u2
0.254237u® + 0.508475u" + - - - — 0.610169u — 2.91525
aio =\ 1.72881u® + 7.45763u” + - - - + 3.05085u — 4.42373
0.254237u® + 0.508475u" + - - - — 0.610169u — 2.91525
a11 =\ 2.01695u® + 9.03390u” + - - - + 3.55932u — 3.66102
u
a7 = ud +u
—1.08475u8 — 6.16949u7 + - - - — 4.79661u — 2.69492
ag = \ —0.593220u8 — 4.18644u7 + - - - — 3.57627u — 4.86441
0.491525u® + 1.98305u7 + - - - 4 1.22034u — 2.16949
ag =\ 2.38983u® 4+ 10.7797u” + - - - + 5.86441u — 3.20339
—1.23729u8 — 6.47458u7 + - - - — 7.83051u — 1.74576
a12 = \ —2.74576u® — 14.4915047 + - - - — 13.6102u — 4.91525
0.491525u% + 1.98305u7 + - - - — 0.779661u — 1.16949
a1 = \0.0677966u® + 0.135593u7 + - - - — 0.762712u — 1.64407
0.423729u8 + 1.84746u" + - - - — 0.0169492u + 0.474576
as = \ —0.254237u® — 0.508475u7 + - - - + 0.610169u + 1.91525
0.423729u8 + 1.84746u7 + - - - — 0.0169492u + 0.474576
a2 = \0.0677966u® + 0.135593u7 + - - - — 0.762712u — 1.64407

(ii) Obstruction class =1

(iii) Cusp Shapes
_ 142,8 , 756,7 , 1287 6 , 19975 , 2096, 4 , 1528 3 |, 1554, 2 , 792 480
= Ut Ul + Fout + Fgut + Frun + 55Ut + omut + g u+ g



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1 u? — 10u® 4 290" — 39u® + 26u° — 15u* + 19u® — 8u® — 3u—1
C2 uw? + 4u® + 30" — 5ub — 10u® — 5ut + 3ud + 6u® + 3u+1
€3 uw® +5ud 4+ 8u” 4+ 13u8 + 10u® + 11u* + 5u® + 6u? + u+ 1
C4 u? — 4u® 4+ 3u” + 5u® — 10u® 4 5ut + 3u® — 6u? + 3u—1

cs, C8 uw’ —3u® +5u" — 4ub +2u° — 2ut + 4P — 3P+ 1

Cg, C9 u? = 3u” + 4ub — 2u° + 2u* — 4w +5u% — 3u+1
7 u® — 5u® 4+ 8u” — 13u® + 10u® — 11u* + 5u® — 6u® +u — 1

€10, C12 u? + 6u® 4+ 5u” + 1208 + 61’ + 10u* + 5u? —u+1
11 u? —3u® — Tu” + 61u’ — 17165 4 279u* — 29703 + 212u® — 97u + 23




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1 y? =42 Ty —1
C2,C4 y° — 10y® + 2997 — 39y + 269° — 159 + 199> — 8y% — 3y — 1
3,7 y? —9y® — 46y" — 109y° — 164y° — 171y* — 113y> — 48> — 11y — 1
Cs,C8 v 8+ 5y" +10y° — 6yt + 12y — 5y + 6y — 1
€65 Co y? —6y° +5y" — 1295 4+ 6y° — 10y* —5y% —y — 1
€10, C12 ) — 2608 4+ —9y —1
11 y® —23y% + - — 343y — 529




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —0.699225 + 0.8811711
a= 0.153901 — 0.4399561
b = —0.480829 — 0.3328721

—1.28188 4- 7.918011

—11.0500 — 9.54811

uw = —0.699225 — 0.8811711
0.153901 + 0.4399561
b = —0.480829 + 0.3328721

—1.28188 — 7.918017

—11.0500 + 9.54811

uw = —0.293070 + 1.1314401
a = —0.518996 + 0.7559201
b = —0.365565 — 0.1164221

1.91580 — 3.108701

—3.25080 + 5.793611

uw = —0.293070 — 1.1314401
a = —0.518996 — 0.7559201
—0.365565 + 0.1164221

1.91580 + 3.108701

—3.25080 — 5.793611

= 0.355075 + 0.6945241
—0.776460 — 0.4632491
0.258201 — 0.7609171

1.44595 — 4.093371

—1.10458 + 4.893951

0.355075 — 0.6945241
= —0.776460 + 0.4632491
0.258201 + 0.7609171

1.44595 + 4.093371

—1.10458 — 4.893951

= —0.046807 + 0.5095081
= —2.11030 — 0.017681
= —3.48539 + 1.476901

—1.03199 — 3.679861

3.16209 + 3.890161

= —0.046807 — 0.5095081
= —2.11030 + 0.017681
= —3.48539 — 1.476901

—1.03199 + 3.679861

3.16209 — 3.890161

u = —3.63195
a= 150371
b= 214716

—18.5451

—22.5130
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III. I¥ = (—2uSa — 2u® 4 -+ - 4 4a + 28, 18u®a + 39u® 4 -+ - 4 16a —
220, u® — 7u® + 26u* — 51u® + 52u? — 28u + 8)

(i) Arc colorings

o ()

ag =

u
?ua—éuS—i—-- —3a+%

ag = 2u5a—}2u5+---—10a+3)
guta+ 5t + - +§a—§>

ag = \Ivla+ Sub+-- —La— 22

( lu57;—1u4+~~-+u+3 )
= \2,5 114 32 11
a2 3 — =u*+ -+

(ii) Obstruction class = —1

(iii) Cusp Shapes = 1Zu® — 83y% 4+ 2103 — 8342 4 25y — 22

11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ (u® + 4u® + 24u* + 11u® + 420% — 11u + 1)?
Co,Cq (ub — 2u® 4+ 3u® + 6u® —u+1)2
cs,cr (u® — Tu’® + 26u* — 51u® 4 52u® — 28u + 8)?
Cs, C8 u'? 4+ 2ut 150+ 9
€6 Co u'? — 6u't + -+ —1017u + 603
C10, €12 u'? —u't 4 — 9420 + 423
c11 (ub — u® + 5u3 — 4u + 8)2

12



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 (8 + 32y° + 572" + 1985y> + 205412 — 37y + 1)?
Ca,Cy4 (y® — 49® + 24y* — 119° + 4292 + 11y + 1)?
€3, Cr (y® 4 3y° + 66y* — 273y> 4 264y> + 48y + 64)*
s, Cs Y2 + 1690 + .- + 189y + 81
C6, Co y'? 4+ 16y + - - 4 402057y + 363609
c10, C12 y'? + 29y + ... — 1840806y + 178929
11 (y® — 9° 4 10y* — 179> + 40y — 16y + 64)>

13



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.375593 + 0.5407801
0.486099 — 0.4553681
—0.834769 + 0.8869861

0.10873 + 3.166331

—6.33370 — 4.197201

0.375593 + 0.5407801
0.92528 4+ 1.973201
0.226390 + 0.4463461

0.10873 + 3.166331

—6.33370 — 4.197201

0.375593 — 0.5407801
0.486099 + 0.4553681
—0.834769 — 0.886986.1

0.10873 — 3.166331

—6.33370 4 4.197201

0.375593 — 0.5407801
0.92528 — 1.973201
0.226390 — 0.4463461

0.10873 — 3.166331

—6.33370 4 4.197201

= 1.391620 + 0.2517701
—0.698843 — 0.0905351
= —2.07845 — 0.669401

—0.10873 — 3.166331

—5.66630 4 4.197201

1.391620 + 0.2517701
= —0.09615 — 1.823571
0.112878 — 1.0329201

—0.10873 — 3.166331

—5.66630 4 4.197201

= 1.391620 — 0.2517701
= —0.698843 + 0.0905351
—2.07845 4 0.669401

—0.10873 + 3.166331

—5.66630 — 4.197201

1.391620 — 0.2517701
—0.09615 + 1.823571
0.112878 4 1.0329201

—0.10873 + 3.166331

—5.66630 — 4.197201

1.73279 + 2.494871
= 1.070440 — 0.3291561
2.03504 4 0.007111

—19.7392 — 6.33271

—6.00000 + 2.826631

1.73279 + 2.494871
= —1.186840 — 0.3188911
= —1.96109 — 0.258881

> Q@ 2|l & €| & €| Q& €| & €| & €| & &> & | & 8| & &

—19.7392 — 6.33271

—6.00000 + 2.826631
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= 1.73279 — 2.494871
1.070440 + 0.3291561
2.03504 — 0.007111

19.7392 + 6.33271

—6.00000 — 2.826631

>~ Q2 |l & &

1.73279 — 2.494871
= —1.186840 + 0.3188911
= —1.96109 + 0.258881

19.7392 + 6.33271

—6.00000 — 2.826631
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IV. I} = 2u?b+b?> —bu+4u®+4b—2u+7, v’ +a—u+2, v —u?+2u—1)

(i) Arc colorings

w= (o)

w? +b+2
2ulb+3u+b—u+5

o= ()

(ii) Obstruction class =1

(iii) Cusp Shapes = —8u? + Tu — 16

16



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C3 (u® —u? +2u —1)?
€2 (u® +u? —1)?
¢4 (u? —u? +1)?
€5, 6, C8 ub — 3u® + 5ut — 5ud + 5u® —3u+1
Cg
¢t (u® +u? + 2u +1)?
€10, C12 (u+1)°
C11 u6

17



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C7 (y3+3y2+2y— 1)2
C2,C4 (v —y*+2y—1)°
C5,C6,C8 y6+y5+5y4+9y3+5y2+y+1
cy
10, C12 (y—1)°
C11 y6

18



(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV—1(vol + /—1CS) Cusp shape

uw=0.215080 + 1.3071401

a = —0.122561 + 0.7448621 1.37919 — 2.828121 | —1.19557 + 4.651751
b= —0.715080 — 0.2418701

uw=0.215080 + 1.3071401

a = —0.122561 + 0.7448621 1.37919 — 2.828121 | —1.19557 + 4.651751
b= 0.254878 + 0.4244521

uw=0.215080 — 1.3071401
a = —0.122561 — 0.7448621 1.37919 + 2.828121 | —1.19557 — 4.651751

b= —0.715080 + 0.2418701

uw=0.215080 — 1.3071401

a = —0.122561 — 0.7448621 1.37919 + 2.828121 | —1.19557 — 4.651751
b= 0.254878 — 0.4244521

u= 0.569840

a = —1.75488 —2.75839 —14.6090

b= —2.03980 + 1.731591

u=0.569840

a = —1.75488 —2.75839 —14.6090

b

= —2.03980 — 1.731591

19



V. I? = {(a, —v® — Tv? +4b—12v — 1, v* + 7Tv3 + 16v% + 13v + 4
1

(i) Arc colorings

w= (o)

ag —

ayq =

w

(
(
(
(
yi
" (_iz; +_9v +11v 44 >
(
(
(
(

—v+1
ag = —1

(ii) Obstruction class =1

(iii) Cusp Shapes = —3L¢3 — 2LT32 — 83, _ 311

20



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2 (u—1)*
cs3,C7 u?
€4 (u+1)*
& ut 20 F3u Fu 1
6 ut +u? —u+1
s ut —2u® + 30 —u+1
C9, €10, C12 ut 4wt Fut1
c11 ut + 30 + 4+ 3u+2

21



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 (y_ 1)4
C3,Cr7 y4
Cs,C8 v+ 207 + T 4+ 5y + 1
Cg, Cg, C10 y4+2y3+3y2+y+1
C12
ci1 v =y 28+ Ty +4

22



Solutions to I7

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

v = —0.600768 + 0.3256401
0
b= —1.112690 + 0.3717161

—2.62503 + 1.397091

—10.34643 — 2.464271

v = —0.600768 — 0.3256401
0
b= —-1.112690 — 0.3717161

—2.62503 — 1.397091

—10.34643 +- 2.464271

v = —2.89923 + 0.400531
a= 0
b= 0.237691 — 0.3537731

0.98010 + 7.643381

2.12768 — 8.801691

v = —2.89923 — 0.400531
0
b= 0.237691 + 0.3537731

0.98010 — 7.643381

2.12768 + 8.801691
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VL IY = (a, —v?b+b*+2bv —v?+b+2v+1, v3—3v2+2v—1)

(i) Arc colorings

w= (o)

—02b+3bv —v2 —b+3v—1

v2b—bv+b+wv
—bv+vP+b—3v+1

—bv+v2—2v+1)

—v2b 4+ bv — v? + 20 )

a2 = —v2 4+ 30 -2
—bv+v?—20+1
a; = —1
bv —v2+20—1
as = 1
—bv+v2—20+2
as = —1

(ii) Obstruction class =1

(iii) Cusp Shapes = 7v? — 13v — 5

24



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2 (u — 1)6
C3, Ct u6
Cy (u + 1)6
5 ub + 3u® 4+ 4ut + 203 + 1
6 ul +u’ + 2ut 4 203 + 2u% + 2u+ 1
Cs ul — 3ud 4+ 4ut — 20 + 1
€9, €10, C12 u® —u® + 2ut — 2% + 20 — 2u+ 1
Cll (u?) _ uQ + 1)2

25



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
6

C1,C2,C4 (y_l)

C3,Cr7 y6

cs, Cg Yo — o Ayt — 22 + 8y  + 1
Ce6,C9, C10 y6 + 3y5 + 4y4 + 2y3 4 1

C12
en (v’ —y* +2y—1)°

26



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

v= 0.337641 + 0.5622801
a= 0
b= —0.960138 + 0.69312471

—1.37919 4 2.828121

—10.80443 — 4.651751

v= 0.337641 + 0.5622801
a= 0
b=-0.91730 — 1.437991

—1.37919 4 2.828121

—10.80443 — 4.651751

v= 0.337641 — 0.5622801
a= 0
b= —-0.960138 — 0.69312471

—1.37919 — 2.828121

—10.80443 + 4.651751

v=0.337641 — 0.5622801

a= 0 —1.37919 — 2.82812] | —10.80443 + 4.651751
b= —0.91730 4 1.437991

v= 232472

a= 0 2.75839 2.60890

b= —0.122561 + 0.4796891

v= 232472

a= 0 2.75839 2.60890

b= —0.122561 — 0.4796891
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VII. u-Polynomials

Crossings u-Polynomials at each crossing

(u— 1) w® —u? 4 2u — 1)?

(u® 4 4P + 240t 4 1103 4 4202 — 11w +1)2

(u® — 10u® + 290" — 39u°® + 26u° — 15u* + 19u® — 8u? — 3u — 1)
(u + 54u!® 4 - — 764Tu 4 256)

C1

(u — 1) 4+ u? — 1) (u® — 2u® 4 3u® + 6u? — u + 1)?
(u® 4 4u® + 3u” — 5u® — 10u® — 5ut + 3u® + 6u® 4+ 3u + 1)
(u —16u'® + - + 31u — 16)

C2

u®(ud —u? + 2u — 1)2(u® — Tu® + 26u* — 51u® + 52u* — 28u + 8)?
(u? 4+ 5u® 4 8u” 4+ 13u’ + 10u® + 11u* 4 5u® + 6u? +u + 1)
(w4 21u'® + -+ 544w + 256)

C3

(u+ 1) —u? + 1) (u® — 2u® 4 3u® + 6u? — u + 1)?
(u® — 4u® + 3u” + 5u® — 10u® + 5ut + 3u® — 6u® + 3u — 1)
(ut* —16u® + -+ 31u — 16)

Cq

(u* + 2u® + 3u® + u + 1) (u® — 3u® + 5u? — 5ud + 5u? — 3u+ 1)
(u® 4 3u® 4 4ut 4 203 + 1)

(u? = 3u® + 5u” — 4ub + 2u® — 2ut + 4u® — 3u? + 1)

P4 2utt 4+ 15u+ 9) (w20 du £ 1)

Cs

(u +u? —u4 1)(u® — 3u® + 5ut — 50> + 5u® — 3u+ 1)
(w4 u® 4 20t + 20 + 20 4 2u + 1)

(u? = 3u” + 4ub — 2u° + 2u* — 4uP + 5u? — 3u+ 1)

S(u'? = 6utt + - — 1017w + 603) (utt — 11" + - + 9u — 9)

Ce

u'(u? 4+ u? + 2u + 1)%(u® — Tu® + 26u — 51u® + 52u® — 28u + 8)?
(u® = 5u® 4 8u” — 13u® + 10u® — 11u? 4 5u® — 6u? +u — 1)
(w4 21u'? + -+ 544w + 256)

C7

(u* — 2u® 4+ 3u® — w4 1)(u® — 3u® + 4u? — 2u® + 1)

- (u® = 3u® + 5ut — 5u® + 5u? — 3u+ 1)

(u® = 3u® 4 5u” — 4ub + 2u® — 2ut + 4P — 3u® + 1)
(w4 2uM 4+ 15u 4 9)(u + 2u - du 1)

C8

(u* +u? +u+ 1) (u® - 3u® + 5u* — 50 + 5u* — 3u+ 1)

c(u® —u® 2ut — 20 4+ 20— 2u 1)

(u® = 3u” + 4ub — 2u° 4 2u* — 4ud + 5u? — 3u + 1)

S(u'? = 6urt 4 - — 1017w + 603) (ut? — 11" 4 -+ 9u — 9)

Cg

28
(w4 1)%(u +u? +u+1)(ub —u® +2ut — 203 + 2u? — 2u + 1)
(u? + 6u® 4 5u” 4 120’ + 6u® + 10u* + 5u* —u + 1)

C(u? — w4 — 9420 + 423) (u + 27t -+ 15Tu — 1)

C10,C12

uS(u® —u? + 12 (u? + 3u® + 4u® + 3u + 2)(u® — v’ + 5u® — 4u + 8)?
C
H C(W® = 3u® — TuT + 6108 — 17145 + 279u* — 207u® + 21202 — 9Tu + 23)

C(utt 4220t 4 88u 4 4)




Crossings

VIII. Riley Polynomials

Riley Polynomials at each crossing

C1

(y— D" +3y* + 2y — 1)
(Y8 + 320° + 572y + 1985y + 2054y> — 37y + 1)2
Sy — 42— Ty — D) (M — 910y 4 - — 4.04127 x 107y + 65536)

C2,C4

(v =10~y +2y - 1)?

(Y — 4y° + 24yt — 11y° + 4297 + 11y + 1)?

(y® — 10y° + 2057 — 3045 + 26y — 15y + 19y — 8y — 3y — 1)
(M = By 4 - 4+ T64Ty + 256)

€3, C7

y' O y® + 3% + 2y — 1)

(% + 3y° + 66y* — 273y3 + 264y + 48y + 64)2

(y? —9y® —46y" —109y5 — 164y° — 171y* — 113y> — 48y* — 11y — 1)
Sy = 17Tyt - — 226304y + 65536)

Cs,C8

(' 4+ 203 + 792 + 5y + 1)(y° —y° +4y? — 203 + 82 + 1)
S+ eyt 9 52+ + 1)

(4 y® +5yT +10y° — 6yt +12y° — 5% + 6y — 1)

Sy +16y" 4+ 189y +81) (¥ — 29" 4 — 6y + 1)

Ce, C9

(y" +25% +3y° +y + 1)(0° +3° + 5y" +95” + 59> +y +1)
“(y° 43y Ayt + 2% 4+ 1)

(y° = 6y° + 5yT — 12y° + 6y° — 10y* —5y® —y — 1)

- (y*? + 16yM + - - - + 402057y + 363609)

) (y14 — 61y + - — 927y + 81)

€10, C12

(y— 1% +20° + 3" +y + D(y° +30° + ' + 2% + 1)
(y? =269 + - — 9y — 1) (y'? + 29y + - - — 1840806y + 178929)
(M —413y"3 - — 22155y + 1)

C11

VW =y 2y = 1%y — v+ 297 + Ty +4)
(y® — 9+ 10y* — 179> + 40y* — 16y + 64)*
S(y® —23y8 4 -+ — 343y — 529)(y** — 6493 + - - - — 2456y + 16)

29



